PSE Conf. Suite Regression 802.3at Conformance Report
November 52015 9:18 PM sion 4.1.08
4 Test Mode: 15.4 Watt report on 4.1.00
1 Sifos Interop Index*: 100%
PSE Tested: Sample 4-Port LLDP (Type-1 PD) Error Log: None
Chassis ID: 192.168.221.103 PSA-3000 Ports
TestLoop: 1 5-1 5-1 6-1 6-2 UNITS Min Max Average Limit Limit
Test: det_v
Open_Circuit_Det_Voc= 10.38 10.38 10.38 10.32| volts 10.32 10.38 10.37 2.8| Pass 30| Pass
Peak_Det_Vvalid= 7.95 7.95 7.96 7.95| volts 7.95 7.96 8| 3.8| Pass 10| Pass
Min_Det_Vvalid= 4 4 3.97 4.02| volts 3.97 4.02 4 2.8| Pass 9| Pass
Det_Volt_Step_dVtest= 3.41 3.4 3.44 3.38| volts 3.38 3.44 3.4 1| Pass 7.2| Pass
Detection_Slew= 0 0 0 0| V/usec 0 0 0 0| Pass 0.1| Pass
Good_Sig_Det_Pulse= 3 3| 3 3| edges 3| 3| 3| 1| Pass 9| Pass
Backoff_Voltage= 0.6 0.6 0.5 0.5| volts 0.5 0.6 0.6 0| Pass 9| Pass
Non_802_Step_V= 0 0 0 0| volts 0 0 0 0| Pass 0.1| Pass
High_Sig_MaxVv= 10.01 10.02 10.04 10.07| volts: 10.01 10.07 10 3.8| Pass 11| Pass
Non_802_Discr_?= 0 0 0 Qf wwx 0 0 0 0| Pass 0| Pass
Detect_Strategy= 0 0 0 Qf * 0 0 0 0| Pass 2| Pass
Test: det_i
Init_Current_lsc= 0.19 0.19 0.19 0.2 mA 0.19 0.2 0.19 0| Pass 5| Pass
Det_Current_lIsc= 0.14 0.14 0.14 0.14 mA 0.14 0.14 0.14 0| Pass 5| Pass
Test: det_range
Rgood_Max= 29 29 28 28| Kohm 28 29 28.5 26| Pass 32| Pass
Rgood_Min= 17 17 17 17| Kohm 17 17 17 16| Pass 19| Pass
Rmid_det= 29 29 28 28| Kohm 28 29 28.5 26| Pass 33| Pass
Cgood_Max= 0.1 0.1 0.1 0.1 uF 0.1 0.1 0.1 0| Pass 10| Pass
Rbad_Cbhad_Stat= 0 0 0 O/ 0 0 0 0| Pass 0| Pass
Test: det_time
Backoff_Time_Tdbo= 172 172 172 164| msec 164 172 170 -1| Pass 1500 Pass
Eff_Backoff_Tdbo_eff= 1200 172 1400 1200 msec 172 1400 993 -1| Pass 1500| Pass
Backoff_Type= 0 0 0 [ 0 0 0 0| Pass 0| Pass
Detection_Time_Tdet= 215 219 215 215[ msec 215 219 216 5[ Pass 500 Pass
Total_Det_Time= 219 219 219 219 msec 219 219 219 5| Pass 1000| Pass
Test: det_rsource
Output_lImpedance_Zout= 411.8 437 388.2 317.3| KOhm 317.3 437 388.6 45| Pass 2000| Pass
Test: class v
Class_Voltage Vclass= 19.1 19.1 19.1 19| volts 19 19.1 19.1 15.5| Pass 20.5| Pass
Vclass_Min= 17.9 17.9 17.9 17.9| volts 17.9 17.9 17.9 15.5| Pass 20.5| Pass
Test: class_time
Event_Count= 1 1 1 1 1 1 1 0| Pass 3| Pass
Class_Time_Tpdc= 13.7 11.7 11.7 13.7| msec 11.7 13.7 12.7 6| Pass 75| Pass
Test: class_err
Class_lim= 65 65 65 65| mA 65 65 65 51| Pass 100| Pass
Vport _CL_| 14.8 14.9 14.8 14.8 Vv 14.8 14.9 14.8 0| Pass 57| Pass
Vport_CL_err_1= 17 17 16.9 16.9 v 16.9 17 17 0 Pass 57| Pass
Test: class_Ildp
PSE_Source_Priority= 0 0 0 0 i 0 0 0 0| Pass 0| Pass
PSE_MDI_Pwr_Sup= 0 0 0 o * 0 0 0 0| Pass 0| Pass
PSE_LLDP_Time_1= 3 3.8 35 3| sec 3] 3.8 3.3 0| Pass 30| Pass
PSE_LLDP_Type_1= 2 2 2 2 i 2 2 2 1| Pass 2| Pass
PSE_Echo_Time_1= 6.8 0.3 5.2 6.4| sec 0.3 6.8 4.7 0| Pass 10| Pass
PSE_Alloc_Pwr_1= 8.1 8.1 8.1 8.1| Watts 8.1 8.1 8.1 8.1| Pass 13| Pass
PSE_Alloc_Time_1= 6.8 0.3 5.2 6.4| sec 0.3 6.8 4.7 0| Pass 30| Pass
PD_Power_Adjust_1= 13 13 13 13[ Watts 13 13 13 13| Pass 13| Pass
PSE_Adjust_Time_1= 4 3.9 6 6| sec 3.9 6 5 0| Pass 10| Pass
Test: pwrup_time
Pwr-On_Rise_Time_Trise= 22 22 22 22| usec 22 22 22 15| Pass 50000{ Pass
Power-On_Time_Tpon= 39.1 128.9 50.8 78.1| msec 39.1 128.9 74.2 0| Pass 400| Pass
Test: pwrup_inrush
Init_linrush= 430.63 430.5 430.38 43113 mA 430.38 431.13 430.7 400| Pass 450| Pass
nrush_c0= 429.38 429.88 430.13 4305 mA 429.38 430.5 430 400| Pass 450| Pass
linrush= 428.13 428 427.88 42825 mA 427.88 428.25 428.1 400| Pass 450| Pass
Tinrush= 59.2 59.2 59.2 59.2| msec 59.2 59.2 59.2 50| Pass 75| Pass
Inrush_45m= 54.6 54.6 54.6 54.7| Volts 54.6 54.7 54.6 44| Pass 57| Pass
Inrush_Voltage= 317 317 317 31.7| Volts 317 31.7 31.7 30| Pass 57| Pass
Max_Init_Inrush= 580.3 580 633.3 611.8] mA 580 633.3 601.4 0| Pass 2000| Pass
Inrush_Strategy_c0= 0 0 0 Q| 0 0 0 0| Pass 1| Pass
Test: pwron_v
Vport_min_1= 54.3 54.3 54.3 54.4] Vv 54.3 54.4] 54.3 50| Pass 57| Pass
Vport_max_1= 54.9 54.9 54.9 54.9 Vv 54.9 54.9 54.9 50| Pass 57| Pass
Vport_ripple_1= 183 182 181 180( mVpp 180 183 1815 0| Pass 500| Pass
Vport_noise_1= 146 153 151 151| mVpp 146 153 150.3 0| Pass 200| Pass
Vtrans_min_1= 54.3 54.3 54.3 54.4] Vv 54.3 54.4] 54.3 50| Pass 57| Pass
Vtrans_max_1= 54.9 54.9 54.9 55 Vv 54.9 55 54.9 50| Pass 57| Pass
Test: pwron_pwrcap
Pcon_c0= 16.8 175 16.9 16.9| watts 16.8 175 17 14.2| Pass 22.7| Pass
Icon_%_c0= 117.2 122.1 1175 117.6 % 117.2 122.1 118.6 100{ Pass 9999| Pass
Pcon_cl= 5.8 5.8 5.8 5.8| watts 5.8 5.8 5.8 3.9| Pass 22.7| Pass
Icon_%_cl= 147 147 147.4 147.4 % 147 147.4 147.2 100| Pass 9999| Pass
Pcon_c2= 8.2 8.2 8.2 8.2| watts 8.2 8.2 8.2 6.8| Pass 22.7| Pass
lcon_%_c2= 120.4 120.4 120.8 120.8 % 120.4 120.8 120.6 100| Pass 9999| Pass
Pcon_c3= 175 175 176 17.6| watts 175 17.6 176 14.2| Pass 22.7| Pass
Icon_%_c3= 122.1 122.1 122.4 122.4 % 122.1 122.4 122.3 100| Pass 9999| Pass
Test: pwron_maxi
314.5 314.5 3135 310.5| mA 310.5 314.5 313.3 0| Pass 1750| Pass
401.4 401.5 402.5 402.1f mA 401.4 402.5 401.9 400| Pass 1750| Pass
61.3 60.5 60.9 61.3| msec 60.5 61.3 61 50| Pass 9999| Pass
)] 54/ 54/ 54/ 54.1 Vv 54/ 54.1 54/ 50| Pass 57| Pass
1lim_Max_1= 429.5 430 429.3 429.8) mA 429.3 430 429.7 0| Pass 1750| Pass
Ilim_Low_V_Tol_1= 58.6 59 58.6 58.2| msec 58.2 59 58.6 50| Pass 9999| Pass
Ktran_lo_1= 108.3 108.5 108.3 108.4 % 108.3 108.5 108.4 92.4| Pass 115 Pass
Test: pwron_overld
%lpeak 1= 125 125 125 125 % 125 125 125 100{ Pass 125| Pass
Vport_lpeak_1= 54.1 54.1 54.1 541 V 54.1 54.1 54.1 50| Pass 57| Pass
Vport_5%DC_1= 54.1 54.1 54.1 54.2 Vv 54.1 54.2 54.1 50| Pass 57| Pass
Test: mps_dc_valid
Min_Valid_Time_Tmps= 10 10! 10 10| msec 10! 10! 10! 1| Pass 60| Pass
Duty_Cycle_tol= 1 1 1 1 1 1 1 1| Pass 1| Pass
Test: mps_dc_pwrdn
Min_Valid_I_hold= 8 8 8 8] mA 8 8 8 5| Pass 10| Pass
Time-to-Shutdown_Tmpdo= 361 360 360 360| msec 360 361 360 300| Pass 400| Pass
Max_Voltage_Vopen_max= 14 0 1.7 0| volts 0 1.7 0.8 -1| Pass 30| Pass
Test: pwrdn_overld
lcut_1= 322.5 322.5 322.5 3225 mA 322.5 322.5 322.5 -1| Pass 1750| Pass
Tcut_1= 61.8 60.9 61.6 60.6| msec 60.6 61.8 61.2 50| Pass 9999| Pass
Isoft_1= -1 -1] -1 -1l mA -1] -1] -1] -1| Pass 683| Pass
Tsoft_1= -1 -1 -1 -1| msec -1 -1 -1 -1| Pass 2000| Pass
Test: pwrdn_time
Turn-Off_Time_Toff= 115.8 116.2 122.9 114.8| mSec 114.8 122.9 117.4 0| Pass 500| Pass
Output_Cap_Cout= 0.2 0.199 0.2126 0.1948| uF 0.1948 0.2126 0.2 -1| Pass 0.52| Pass
Output_Load_Rp= 546.2 558.7 543.1 573.8| Kohm 543.1 573.8 555 45| Pass 50000| Pass
Test: pwrdn_v
Avg_ldle_Voff= 0.5 0.5 0.4/ 05/ VDC 0.4/ 0.5 0.5 0| Pass 2.8| Pass
Error_Delay_Ted= 1953.1 2460.9 1640.6 1593.8| msec 1593.8 2460.9 1912 750| Pass 10000| Pass
Peak_Error_Delay_Ved= 7.3 8 0.6 1| vDC 0.6 8 4.2 0| Pass 20.5| Pass
Test Port Hardware Version: 6 6 6 6
Test Port Firmware Version: 3.1f 3.1f 3.1f 3.1f




